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m3a 89,07m? m3a 89,07m?
1.2.1 hol 4.23 m? 221 hol 423 m?
122  |hol 9.52 m? 222 hol 9.52 m?
123 |pokdj dzienny z aneksem 19.81 m? 223  |pokdj dzienny z aneksem 19.81 m?
124 |pokgj 1223 m? 224 pokoj 12.23 m?
125  |pokj 12.24 m? 225 pokoj 12.24 m?
1.2.6 fazienka 3.52 m? 226 tazienka 3.52 m?
127  |lazienka 2.82 m? 227 tazienka 2.82m?
128 antresola 21.36 m? 228 antresola 21.36 m?
129  |anstresola - schody 3.34m? 229 anstresola - schody 3.34 m?

[12L  [loggia 323m | [22L  [loggia 3.23m?
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-1.K.1 |klatka schodowa 6.37 m?
0K.1 klatka schodowa 534 m?
0.W.1 |wiatrotap 2.15m?
-1.G.1  |pom. gospodarcze 2.67 m?
-1.T.1 |pom. techniczne 13.14 m?
2

-1.K2  |klatka schodowa 6.37 m?
0K.2  |klatka schodowa 534 m?
0.W.2 |wiatrotap 2.15m?
-1.G.2  |pom. gospodarcze 2.67 m?
-1.T.2  |pom. techniczne 13.14 m?




